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33691200 UbLnqhnLbn A [r B o-/ 4bquhuLn 1l 300 3.30
33621270 u uupnln [nronUp Llulrpfit nqnqutbnujpp{nrd qbquhuru 7 180 1.26
33661 000 9ruurr{Lufu n Lnfr h ubn Ll1 dl

rybrluhuLn 2 230 0.46
33622000

rl bplrLqnq ph 1 (qbp lrtJa@
hL nuru.rudh n, u LItn nh ulhtr (uLl nnh uhLh nbo h r urr nl

a/ rpbrltuhuur 118 200 23.60
3369i 220 hUnqhtr q<

4brlLuhuLn 100 0.53
33691212 nhnudhL, hbuubnhnhtr g< rlbquuhurr 93 60 5.58
33631 400 +:[nnLuuptrunqnl, uUFfrtnrnuqhl g< qupl;nL6 480 50 24.00

191 luhmnopunthtr d/
4b4urhu-rrn IJ 350 5.25

33631310 hpnLr4nngbtr
ryn B 900 7.20

33621 370 hqnun nphryh 4hLfr urp u-rr.n
ryn 43 50 2.15

33691 220 hLnq[tr t/ unLLurq B4 50 4.20
33661 1 25

u Eulurunqn[ (ubu1r!dfrqnt tjurmpirnLrl), qILnngbtrnt{[!Gn$htrffi
hhnnnprnnhn), $b!rlhrlbnhLhnLdh nnnrjhn

o-/
Nh 142 150 21.30

33631200 qtuqEtnu nd?tluJtlLUU

3h qn ngLopu ughl (gf qp nglopu ugfrtrh hh rrnnprn h n)

qup!nL6 150 50 7,50336621 00
unq 450 10 4.5033691 1 96 t inuuiunnqnu

OUL!pbuLnfrL (urJhruq, ulnnLnbuto. rhrrrrrrn l

q< t1/h 29 tB00 52.203361 1 1 50 q<
4blurhuur 34 200 6.8033612400 aa unLlull 49 50 2.45

3361 1200 l-nulhpud[4 (lnqbpuLIlr4fr hlr4pnplnplrrl) g< rluqr!u.lurrnl1

D
7 360 1q1

33613000 FIuu!n4ir1

a/
llnrilhl 7 120 0.8433621440 _ FbL4uqnfi hir4pnp

9uqurnqp[133621 51 0
lillrlil l unUuli 27 150 4.02

q<
rybrluhuur 10 400 4.00

33621 520 f U ur 1Ll q p fr 1 ( f L u 1ur q p fr fr rI u1b Lu un), h h 4n np t n n n Bh ruq h n rlbqurhurm 19 260 4.94
33622800 , 

I ur uj ur qu n n u ( u.l ur 14 r-u qun nL n h [ 4p npln p I a) un d urlr 30

z6

100 3.0033621 620 $nLnnubdh4

UmbLnlnl

q< unqutj
33621710

BO 2.24
q< 4brluhum 420 1.26

33621 760 ftt un1ur r4pf ; fr du I bum a/
4bquhu,rm 6 200 1.20

33661 230 ugumn luurFgfl [u]ppn r, duqttbqf nLdfr hir 4popufrr] rybrlu.rhruur 10 192 1.92
33671 1 30

33631630
It'pu u n n q.n Lu u n 0 ( rln+uu h rr 4n ur d llL h h h qn np tn n h q)

hPuLnl
unLlurq 23 BO 1.84

33631600
q<

22nu 1,040 20 20.80
(,n4

sh;t rtl.prtr.r,Jht
g< nuu'l r6B 20 3.3633621240

33617208
un{urtl 17 360 6.12

33651 1 00

uuqrltlrilu
4brltuhuLn l3 200 2.68

q,t rt,r rl,r H,uur/r ptuLtilr[Luut"uppnt
(UutthnLdh prruL.lnLrLILuLnI

g<

-a
:=

4brlu.rhuur 123 31.00
33651 1 57 3b$unhupunL (gbgurpfrurpunL LumpfrnLrJ) unLLuiLl 278 290 80.6233651 1 00 uqhppndhghtr

UnLl$utlbpopuLlq nt, urnhrjbanunhrJ336511 00 4br1u.rhu-rur 200 150 30.00
f\ 4brluhurur 10 460 4.6033651 1 00 3[ qp n$1opu uro ht] (qhutn n$ropu uo hL h h h nnn nr n nh n \ g< 4urlunulm ?1 450 14 ,40

3365i220 $1nLt1nLr.uqn1 o/ 4bququLnfr
'6 95 180 17.1Q



33661 121 UgbuftluuftgftluppnL q< nbqurhum 5 360 1.80

33661 200 tjbLnudhqnt (dhunudhqnt Uurrnhnrd) qbrluhum 6 r00 0.60

33661200 UqbLnhluu thq h luippn L qu pr.lq hururdn t, U ngbhtr qbqu;huLn 300 3.90

33671 1 1 4 Udh!n$hrh! (hnL$hrhL) .+<- un{urt.{ 37 200 7.40

33671114 urI[Ln$[fitr q< nbnurhulLn 3 680 2.04

33691136 Luunpf nLd[ Blnpfr4 o-/ u nq uJq 4B 180 8.64

33141110 ullrpuL|'luq d/ hr.uur BB 50 4.40

33141110 FdflluUtuL purrJptuh g< n ulLn 187 200 37.40

331 41 31 0 l,bnunhhtLbn a/ nuu 200 6.20

331 41 31 0 Lbnunl.lhtLbn q< hurun 22 200 4.40

33141111 UqbnLuLhLbn d/ nurm 280 100 28.00

331 41 000 rlbnbnh LbnunUdutr hLutlurllLrnqbn q< nulm 42 200 8.40

33141420 FdrLruLruU dbn!nq num 1000 24.50

33631 61 0 rrln{[4nL 
1n4 T1 2lhl) 31 00 n 12.44

33141129 pd2ququtU rlhduttl hu;m 13 350 4.55

331 4 11 lqinL! uulbrlLuLfr a/ nurLn 6 500 3.00

33651 1 70 urqht,ttnLlhn rluqurnuul BO 180 14.40

331 4 1B ubdbnng[11 uunbpfrl c< nuim 14 500 7.00

3364 413 4bpu u-rrJbm u-rq nL q< un4urLl |lJ 180 20.70

33131000
dULnnnlrfr4Luqnt(dbLnnnUfrqurqntr| pbUqnurLn), plnphbpufrq[Lfr
nhnrrnrlrnLrrrrn fnrnnhhnrrhnhfrh nhnrrnrlrnlrrrrnh ?O% rnrEnrra\

Q1 qup!nL6 800 1 0.80

33611350 Uu!nppItrruppnr q< unqurLl 4B 360 17.28

33661142 UdlimpIqm[fi tr (urI[LnpIquf fi LI hIapnplnpIa) o-/ nbnurhum B 13000 104.00

33691 31 0 PbLqhrpbLqnutn 22l1Ll 4CO 10 4,56

33641 41 3 rlbBunrtlbBuqnlr c< un{ut{ 670 B 5.36

33621 380 'I[qnpuirtr q< nbnurhuru 320 1.60

33621 300
Lr1$u;-ppnd[qn{u1bpIutrutppt{| bphL hupbn, $hUnpupp[mu1,

rrrLrrrfrnrhrh rnrn
Y( zzlLl 120 IC 1.80

33661 r 28 9LuppurtIuqbL4frrI q< rubnuJhurm 11 11700 128.70

33693060 Uulqlbq h n Ld unqgu.rr"n q/ un{wq 32 50 1.60

33632000 LhdbunLrhn q< Llrr.npbp B6 30 2.58

33691144 Luup[nulfr p[nunLgu-rLn a/ un4urL,l 45 80 3.60

33661 170 QpnQul[L (qnnqulhtth hhnnnprnnhn) un{urtl 31.6 270 8.53

33621 620 UulhnnLnturUurntr nunulnutLn 45 270 12.15

33141112 UqblurLfr ln2LnnL!fr hurLlurp Y\ hr.uLn 500 10 5.00

3361 71 00 qutqhnLdh ql1nL!n!uru nuLn 70 20 1.40

331 4 14 r}wlqft$ q< nulu 120 100 12.00

3366 36 nf uqbLqud q<
4brlLuhu-rLn

aa1 40500 292.41

3369 29 ftfiLqbp r"nurpbp 345 10 3.45
3369 95 !lnqLuqItr qbnuhLuLn 35 37500 t3 t2.50

33661 1 31 $bLnpunphuru-rt q< 4brluhurLn 2700 35.10

33691225 FbLqnpuppIunu1 g< 4brluhuu 20 1 3500 270.00
33615000 qlhdbqhpf'a,dbm$npdfrL hlrrlpnplnphq T< (urp 40 400 16.00

33611350 uruUnnphLurBBnL ascorbic acid g< (u-rF 31 360 11.16

33673400
uupnfuLuun[ (urupnruluunr unL[+Lum) sat0uramot (satoutamol d/ $turLl 1850 20 37.00

33691 1 36 LuLnpfrnLd[ plnpir4 sodium chloride q< $Lrutt 278 BO 22.24

33661 1 40
plnpqpn durqf L (p1n p qp nduq[Lir h frqpnBlnp h 4)

chlornromazinp f ehlornrnmazrnc
d/ (u;p 24 31 000 744.00

33661 1 39 huinqbpfrrpl haloperidol q< (urF 12 43000 516.00

33691 1 94
un nnSln rn ulbn urqnlr (mn f'SLnm ulbpuq[Ulr h[ 4p npln p[ 4)

trifl uooerazine {trifl uooerazine hvdrochloride)
d/ (u.tp J 48000 240.00

33661300 lLuf nLnpf p[L lamotrigine q< (u.rF 278 810 225j8

33661600 Stn+buu.tqhlr (gtn+bl.tuqnu11 ryb!uLnuu)
fl ttnhcnazine lfl r rnhcnazinc dcrannatp\

q< udq 876 350 306.60

33671 1 28

qturn Lgnrr (q[LUn Lgfru fr h f qpn ppn L]fr4), f$br]n htt ( h$h+nhL h
hhqpnpgnph4) glaucine (glaucine hydrobromide), ephedrine

lenhpdrino hvdrnrhlnrido\
$turtl 532 40 21.28

33652200
gnu gn fi q[4u bp (f ubLgh ur g-h$ L

ohosoholioids lessential l-FPl
q< ULJq 732 50 36.60

33652200 u[[rdupfrL silymarin q< (urp 20 200 4.00
33691 1 1 2 dbupnL[4Luqn1 metronidazole a/ $tu-rtt 439 6.59
33621250 4bpuurpuL (4bpuupuL 40) dextran (dextran 40) a/ $Ltuh 1925 2B.BB

33622200
LurUrppnlnU (LuL4pn1n!f 4h!uLnuLn)

nandrolone lnandrolone decanoatc\
q< U,J,rl 3260 5 16.30

33621 1 60 tutLIhLnUuLUnn!urBBnr aminocaproic acid q< $iLul.l 620 B 4.96

33621 670
pfiunulnntnt (pIunqpnlnf hbrl[gnrLlupurur),ud1n4hulf'tl

bisoorolol (bisoorolol hemifumaratel.amlndininc
q< nup 163 150 24.45

3361 1 000 !uprlfrp pb1 /!urprlfrp ufirI/ (turn 27 350 9.45
3361 1 200 mbunpuglr!flrtrlr h[4pnp1np[4 tetraciklin hydrochloride nLup 21 400 8.40
33661 550 hulnqbpf 4nl haloperidol z n/ udq 103 50 5.15



33661 600 lLrndbqp n duq[L levomepromazine g< udq zzl 50 11.05

33661 520 q[uLqbqud diazepam udq 100 200 20.00

331 82400 ftbLLnqhL dLrquL.lbtr d/ SnLqh 42000 42.00

331 82400 'lpu4uLl[ub1 q< <DLuBbp 9000 9.00
33141800 $houud q< Qurpbp 9000 9.00

33131000 9uUup innurqtrnn q< $LuLll 1 540 l Ft
LJ1

33126000 +bqhL$bqsnrr q< '$turtl 1540 1.54

33141800 (bdnumum[! lnLdnqp
q< $Lurtt 1540 1.54

33141800 hLnndbunuqnL l, f( SnL{r 12645 12.65

33126000 l-nLuLut htr 141 n dpurtrln LB T\ SnLrJr 18000 18,00

331 31 000 !urmnhl LbnunUhlh urubntrbn SnLLir 2530 2.53

33126000 ULbumbLnfl! !lnLp nLpfruuhqflL gnpLnb g< SnLri 16500 2 33.00

331 31 000 9nLunuqbpSLu SnL{r 1100 1.10

33141800 9ruLLulp pulLuqtrnrl qb1 q< SnLqh 1100 1 ,10

331 41 800 lrumnhnrilh hhunBrnnhn $turU 1100 1.10

33148800 3 ilr!opu fr 4 f 4qb!n L /hnqbtrur/ '.f( SnLrh 2200 2.2Q

331 31 000 Plnp hbpufr4[tr q< $Lu-rt.t 1200 1.20

331 31 000 Uflnuqpbl g< $LurQ 8000 8.00
33'131000 UUtluLtIbnntr g< $Lu-rtt 19000 19.00

3s1 31 000 0nngI11 dnLlurfrubulLn r4lnLu g< SnLqh 1 8000 18.00

33696500 LIIquLlnLp q< Sntfi 7700 7.70

331 41 61 5 l.Ibqfi uLufiquunp q< Snu"h 13000 13.00

33696500 Spndpnqluumfitr q< SnLqh 13000 13.00

33696500 4bdnqnphlr SnLqh 5000 5,00
33696500 funlbuLrbpfrlr .+(- SnLf 8000 8.00
33661 420 S p lr hbpu fr$bb I a[ 1 (LnpI h bpufrghLhqh Lh h[ 4p npln p]r 4) hu-rp 6 64000 384.00
33691138 rpbpuurpnq (4bpuLnpnqfi dnlnhh4num) c< hum 378 90 34.02
33661600 lhndbqpniluqftt (ltrndbqpnduqlrtrfr rlulbLuLn) g< 4brliuhuLn 25 2000 175.00

33611200 $nu$u1nLqb1 g< nulm 112 100 11.20

Ctr4rurlbtrp 5983.58
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33621270 ubLpn$ lnL6nqp dbLpfrl [qn{ulbpuppL{nul q< l-ur [wu-lwu rl
17 30 0.51

33691 21 9

u urqu uq1 n ru ur u u.l u rl Ln u Ln ( u urqu nqn n Lu ur u u|.! n u1 u m rl

Ln bLn p u h fr 4p u m ), ! Lr fi n Ld u u ulur n Ln ur u ( ! u f n Ld

hhrf hhhn nr r rrn\

g<
4urlurnurLn 4 50 0.2?-

33691220 h! nq hL qbnuhuun q 100 0.53

33631400 Plnpud$bU[!n1, dbpfllnqLuglrl d/ qupllnL6 480 70 33.60

33631 400 qurq hn Ld(tl urrq fr nrd L1 u ppnL uu), fun r bl.t ulq h$bn n r
o-/

4b11u-rhurLn 40 150 6.00

33691191 P1n pn qI p urlfrtr (p1n pnqIp urrlirL lr hh ap npln p h q) q< nunuJ n ul u1 42 r00 4.20

336911 91
PbinLudbpuqnL (pbmudbpuqnLh qhqpnqhnlurm),

Irrnrnnhrhrronr nhlrrnrrirlhchlt fohlrrnrrrrlhohlrh rtntr!l'rrtrn\
o_/ qLup!nL6 1,650 10 16,50

336911 91 flhuirJhL (phurtlhtrh Brnnh4) g< rnq urq 20 100 2.00

1591100 €ulflnrpI uq[pLn g< zzllll 150 100 15.00

33621 370 QnuLbLh qbnopuhn T< ,?hu 108 100 10.80

33631 200
rd[ ur d frlr ( plr tu d lrtr fr h | 4p np 1n p [ 4) ( r{[ u Lr d lrL 81 ), q I p | ryop u frlr

/rrrhnhnnnrhfrh hhnnnnrnnhn\l rlhrnrrrrlhlr R6\
q<

ryn 20 2000 40,00

336621 00 3 lr qp n$1opu urglrl (g h qp n$lopuLug [Lfr h I rypnpln p | 4)
g< unq 382 10 3.82

336621 00 Uq bLnh turrJhtrnLfrurp n Lr;p nqopuh pbLq btr r/h 40 60 2.40

33662100
^ t=^, ,, , ,,fI=^, ,,^ -1,

unq. 1,650 B 13.20

336621 00
U1$ur-mn!n$bpn1 ugbmuu (Llf unudfrtr E), nbLn[Ln1 qurllfrururur

/rlhrnrrrrlh| A\
q<

NLq
11 50 1.05

336621 00

u urqtr bqrr n Ld rr h rl 4n n u u ul ur n m ur m ( u uqu bqrr n ru rr

h ir r1p n u u q Lu p urq[! Lu Ln m b Ln p u h fr 4p u ur), q I p [ 4op u frtr
/rrrhnhnnnrrhlth hhnnnnrnnhn\

vh 45 100 4.50

33662100 QfrlfuruLh lnLrt undutr 192 50 9.60

33691 1 96 ftf uqhp[4ntr q<
ryn 29 1 950 56.5s

33631000 ftbhhnnnlr q< nulut 212 200 42.40

33631 000 Uupn$uULnIL-G undulr 35 10 0.35

33631000 UbLu4f nL (dbtruq InL[ LurLnp[nLdu!uL p[unL$[Ln) g< unqLrrq B5 30 l5q

33631 000 -IhUrn$bLuU (a[!1n$btrnr! trurmnhnLrJ) f\ n/h 40 200 8.00

33631 000 Upbulir o2urpurll q<
22n11 780 10 7.80

33631 000 Lh n$hluqd ud U bL nLuL h [r uotr uoor] u r hb dLu! n bL bn q< 4UntUntlltn 49 300 14.70

33631 000 a[1[urL I I n Lq, p1n p urtl$bL [! n 1, pbLqn ! u4 frl, p n p Lu ppn L Y< nuul 4,401 5 22.00

33631000 9wnnnohumbhlr q< ))nu 876 5 4.38

33631 000 sbpu6Lfr qbpbh[4pn1 t. 1,200 I 1.20

33631 000 0dburnuonr d/ lbnurr.uumhr tz 500 6.00

33631 000 UU nLdhlh n Ldh hhrlpopu h4, tJurqLbq[ n Lil[r hfr4popu I q d/ rrrta Lbnphtr 1,140 5 5,70

33631 000 SudnmIqflr d/ 4brluhum 12 50 0.61

33611 1 50 Ubun [r r nLun Lldhnh hh nn n or nnh nh rJnLnh hnn uLn q< 4brluhuun 40 100 4.00

33612400 Ubunn!lnqpudhrlh hhrlpnplnph4[ dnLnhf 4pum d/ unqurq 49 50 2.45

336:t2400 rlpn uLur]bp firI hh r]n nBt nnhrl q< unLlutl 52 50 2.60

3361 1 200 Lnqbpurf[q (lnulbpudfr4lr h[4pnp1npIq) q< rtblul|.r]umfl
6

7 50 0.35

3361 3000 Fhuuqnqhr q< nbnuhuur 7 60 0.42

33621440 FbL4uqnf hfqpnplnpf4 q< unqurLl 26.8 30 0.80



33621 s1 0 !uqunqplrl Y< 4UntunUrUl l0 300 3.00

33622800 rrl ur Lrl tu r.l b n hL ( ul ru ut ur d bn hL h h h nn nB r n n h n) q< unquq 30 20 0.60

33621 620 $nLpnubd[4 g< unLluttl 28 30 0.84

33621 71 0 UurbLnrnr nbnLuhurur 100 0.30

33621 71 0 FIunqpn1n1 (pIunulpnlnf gnLdu.rpuun) q< nbnuhuLn 10 60 0.60

33621 760 hLutuqnhth LILutbtrLn q< rlunuJhuJm 6 150 0.90
33661 230 Jg bm [1u ru 1[ g I puppn L, LiuqL bq[ n rd[ h fr 4popu fr 4 o/ 4b4ruhurm 10 100 1.00

33671 1 30 rlh$bl 
h hnnurdhl ('1h$bUh h nn Lr dhl h h h nnnpr n n h n) g< unquq 23 20 0.46

33631 630 EBuuUnl 221\ 1140 A 4.56

33621240 3hu!nUnnurturjhtr g< unLlu-rtl to 50 0.80

33621240 bntluph unL$r.uur, uu!nppirluppnr Tq 4brlurhuun 33 100 3.30

33621240 $nlurppnr .+<- rlunurnuLn o 100 0.60

336511 00
Utlopuhghhtr (udopufrghhLh mpIh[4puun), p1u.r{nLlLr.rtruppnL

flrrrrrhnrrlh nrrrrrlnrrrlrrrrrn\
q<

4UrlunuJLn ilo 100 11 .60

33651 1 57 3b$unpIupunU (gb$LnpIupunL LuLrpInLtl) a/ unqurL,l 150 50 7.50

33651 1 00 Uqhppndhgfrlr q< rluqunum 285 60 17.10

33651220 $tnLUnLr-uq nt a/ nbnuru-tuunh 109 50 R /R

33661121 LIbmLrd[qn1 (dbururlf qnl LuLunpirnLLI) d/ un{urt.l 31 100 3.10

33661200 UbunuLJhonr (dbr-nuLIhonr LuLnnhnLLI) q< qbrlurhLur-n 6 30 0.18

33661200 UurpnLunurrJnfr unL$urLn '+<- 4Urllunum 100 1.30

33671 1 1 4 UdhLn$hrhL (hnL$hrhL) Y< unqurq 40 10 0.40

33671 1 1 4 FpndhbpulrL (ppndhtrpulrLfr hh4pnplnphq) q< ounuinulLn 2.9 r00 0.29

33r41110 rf[puulluq g< huLn B5 200 17.00

33141110 Fd2! ur! utr purr.lpurll hLur-n 177 30 5.31

331 41 31 0 l,bpup![ilbp g< num 17 r 000 17.00

331 41 1t 1 UurbnrulhLbn q< nurm 125 50 6.25

331 41 000 rl bqbph Lbpwpl.iduL hu:dLrLlupqbp q< huLn 42 150 6.30

33141 000 !urBbrnbntrbn c< nuul 100 4.30

33631610 nlnLlf rinl 1n4 q< 2zlu 2830 ) 5.66

33141 1 29 pdrtlutrurl nhdurlr q< hum IJ 5 0.07

33141111 uuqhdhU q< und urtj 785 5 3.93

3314111 B u nrudu:L rrt ur U LuLtul q< undutr 130 30 3.90

331 411 1 B nhuqnrhL nnurdb num 3B 100 3.80

33641413 nbou ur d bururq ntr undutt 4q 50 2.75

3361 1 350 Uu!nppILLrppnL q< unduU 47 100 4.70

33661 1 28 9LuppurrlurqbqId g<
4UrLr.!nuu1 l1 25000 275.00

33661 1 2B (bqurpitU (hbqupltL truumpInLd) g< qLupLlnL6 633 0.63

33661170 OnnUurhtr (u.lnnUurhLh hhnnnBrnnhn) unduU 31.6 100 3,16

33621 620
L{lrur Lu rlfrlr 81, L.[f mudfrlr 82, q h u1rldf'lt 86, 4bpu r4ruL pbt

lrhlrnrnhlrrrrrlhn
r[,

un4urtl 142 50 7.10

33621 620 SburpughtthL' Y( u.lunLln16 480 5 2,40

33640000 $lnLtinLuqnl 118 100 11,80

33141112 UqbeurLh !n2mnLt4[ hurlnrp g< nuLn 500 t0 5.00

33141310 lrbnurnUhl 3 nuul l2 1 500 t8.00
33141310 rrlpnunupqnl '+(- $1u11ntr 300 10 3.00
33141310 Lh4ntlu4htr (fi an!ulltLf hlr4pnplnp[4) rxdtu. 26 50 1.30

33141310 Cqumbl g< Lnn LrJr 1 000 4 4.00

33617100 9utqhnLilh q11nL!nLruLn huLn 70 20 1.40

3314 14 GLuLq[$ f< nurm 180 l0 1.80

331 4 14 L-p tln$$bhtr q< undutr l0 10 0.10

33141114 1-p 9up4lrrurl[tr g< un{urtt 10 10 0.10

3366 36 rlfitrcgbqLud q< 4hrluhurLn B 1315 10.52

3366 136 9thqbnhLh rrlhUnnhnqlu T< 221t4 150 100 15.00

3369 2S fthLqbn d/ r-lru-rphp 345 100 34,50
3369 29 dulllLu!ruL finth da nuLn 340 l0 3.40

336 91 1 29 UpLnuSSnrl tluLnbLnn a/ hum 100 300 30.00

33691 1 29 rIlrrIuLBu-p1np g< hLup 13 500 6.50

33691 129 {f mLudlrl A, r{flLnudfrL D3, r{[murdfrL 82, r{frurLuLI|L BQ,

ilhLnurJhL B'1. rlhrnurlhL 812. tlhrnurrlhL C. rlhrnrrrrlhb PPiD- zzllLl 1200 t0 12.00

3369 95 p1$[!nfiL/ F[$[4n pur!mbp[L/ q< luqr.!quJmni 40 100 4.00

3366 29 r{ulqpnuppnL (LurmpInuI tlulqpnurm) o-/ 4brluhuru 120 4000 480.00
3366 29 ulLulr4pnuu LumpInLd (LlLul4pnuppnL) f( 4b4LuhLuur 7B 4000 312.00

3366 131 $bLnpu.rppIinu1 q< rlorluJnuJm 13 1 300 16.90

33691 225 FblqnpuppItnu1 f\ 4b4uhuur 20 3500 70.00

33691 225 Lulmnqnq I

22lq 3750 10 37.50

33611350 u-ruUnnnhhu-rBrlnL ascorbic acid q< (rup. 31 200 6.20

33673400
uulFIru rwur r[ \uw[F, rLu rwur ru | \/r rL[ywu r,/ )qruuLar I lur \)atuu rd, I

$Lurtt 1100 2 2.20

33691136 LuLnnhnrdh ptnnh4 sodium chloride 2 'i( $lurtl 278 20 5.56



33661300 LudnunnhphL lamotrigine Y( (rup 2t6 2200 611.60
33661 520 4[uqbqud diazepam g< U,Jri.l 100 20 2,00
331 31 000 UlQnuqpbl q< $ttuLt 8000 5 40.00
33696503 LhLnpnq{hgbphL q< n uJp I 20 0.18
3369651 1 €1nph bpuir 4[L fr qlnL! nL urr.n q<

22l,tt 620 10 6.20
3369651 5 h[rypn!npLnIqnL (h[4pn!npmlrqnLfr ugbur.uu) g< nLuu'l 218 EJ 1.09
33696517 UrlpbLurhtr g< unqLUq 170 t0 1.70

33696521 3b$nLpopufrr.l (gbgnLpopufrtl Lur.nplrnLd) unLlurll 800 200 160.00
33696528 Shqnngropuuqhtl 't< unquq 24Q 10 2.40
33661420 Lururp[nLdfr plnp[r1 0.9% 5tI1. Y( unLlurt.l Jt.o 300 9.48
33691138 qbpuunpnq (4bBuLnpnq[ dnLnhIqpurm) q< hurm 378 50 18.90

3362 460 pfuLu!n4[1 o-/ dndhtr 65 200 13.00
3362 460 Utlppopunl (urJpnopunth hhnnnptnnhrl) d/

22\'tLl 950 E tatr
336 460 UqLupqu ulpfr !Lup. q< S nrqh 8000 22 176.00
3362 460 9nFhghtr nurp t2 300 3.60
3362 460 IuL1nL11ru ppfr tlurL!u!uL Y( nuu 420 20 8.40
3362 460 ULLuqp[frtr 1Odq nurp 5 100 0.50
3362 460 9urubtnp 24G q<

n ulul 55 50 2.75
336 460 Su$lrLnutr q< mn[tI| 4950 2 9.90
3362 460 Ju;npu t/

n uJp 26 200 5.20
33621460 UuQnppfrLurppnL r"hn2fr g< qn. 10.5 2700 28,35
33621460 l--B !nlttunpnBuhtuqu 50dq/2Ur q< u ni{urq 155 20 3.10
33621460 dbupnL[ryurqn1 metronidazole 500rJg g< nuip 50 1.93

33621460 rlnfi4bpuur u!uL9ir !p. c< unLrlr 2145 5 10.73
33621460 onuU LUuntlbturlunqh N1 d/ hum 2700 6 r3.50
33621 460 orlLr! qupl1b1ufu ngl'r N2 Y( nuLn 2750 10 27.50
33621460 ulfiuru;4nuLn punLp c< SnLqh 4290 4.29
33621 460 9iuLurt thqButlnnhl N6 SnLrh 500 3 1.50

33621 460 'bunp-1urp q< SnL{r 5200 5.20
33621460 PblturlnLLn d/ SnLdr 2300 2,30
33621 460 HK $Lurrbn N6 q< SnLr.h 1400 1.40

33621 460 Ulduqb pnpbp LnnLppfrLulirL 6u.r1pu!uflr hurLILlp ql4uri d/ huLn 236 5 t.1B
33621 460 UlLILuqb pn pbp Lnn LppfrL uL1 lrtr 6u1 pLulur 

t h h udurn l1nL ud g< huur 236 5 1.18

33621 460 Ut LIuq b p n n bn m n Ln p h! ur t htr 6Lu t n ur U u.r r h h u tl u-r n or url u, hu.run 236 5 t.1B

33621460 Luunpf nullr hhqnplnphq g< $rutt 4000 I 4.00
33621 460 9pbqn4btrp hb4nLLl g< 22btl I tcz I 1.15

33621460 9pbqn4bLp rlu8nLLl q< un[q] 2000 1 2.00
33621 460 9u ;_q finLtlfr hh nn nBuh n rlu6nL! I nLu. atLnruqn LtJn tl a/ unlqn 3495 1 3.50
33621460 Snlqbpfrqntr g<

'/h
54 6500 351.00

CL4udbtp 3415.33
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3366r 000 lurrltlLufu nLnh hLuLnLU d/ rluqurnuiu 2 500 1.00
33631 400 €lnpLuLI$bL[!n1, dbpfrln4ugfrl g< qup!nL6 246 3 0.74
33631400 9b1nL fubd, pubnngnnrJ d/ ru urn Un L6 246 l 0.25
3363r400 9 Lu gI n LLI(QLu pirn Ld ! urp pntr urm), fu nlbq u g hgbpn 1

l\ 4UrLuin[uLn 40 50 2.00
33691 1 91 'Ptn n nqfrp ur rllrtr (p1np nqIprudfrL I h [4p nplnpfr4) g< rlbqurhuim 57 100 5,70
33691 1 91 FnpuppnL q< qup!nd 220 t0 2.20

33691 1 91
t-bmurd bpurqnL (pburuilbpu:qnLI r1"flqp nu1[ nLum),

UtnLnnhdu.ronr. obLrnurlhohtr (o hLrnrr rrlhnhirh r rnr r!hr r r n\
qup!nL6 248 1 0.25

336911 91 22lll 118 10 1.18

33631 31 0 hpnLqpngbtr q< ilh B 280
3363i310 Lrufi nLtlI qbptluLquLum c< 22nu 119 1 0.12
33621 370 QpLu6Lfr qbpopufr4 Y( 22nLl 149 B i .19

336621 00 Lfrmpn$nLpLul g< rf ujp 70 4 0,28
336621 00 $nLpuqn$4ntr T\ r/h 5 r00 0.50

336621 00
3[ qp nglopu urg lrL (g Iqp n glopu Lug frLfr hlr qp npln plr 4),

nbou u.rrJbnuo ntr
q< unq 6BB 2 1.38

336621 00 Lu$uqnlfrtr g< unLLuLl 208 5 1.04
33662100 ahifuurLh lnLrl g< un{urt-l 192 5 0.96
33631 000 flbhhnnnL hurr"n all

B 1.70

33631 000
Ubmud[qn1 (dbunurlf qnl !LuurpInLLI), mpfrurgbmnurlfrL 4-

rnn ln LbL u n Ltgntr ulr"n
g<

1/h 28 20 0.56

33631 000 l,uuwyilu, U r' fr rLluJI ru ||u il|r [.luJJ rul I ."1'<
221tt 650 2 1.30

3s631 000 n[ n u d bli ur I Ln ( u rJb ! ur fr Ln fr 4lro! m u f 4p fr t1 ) rVlr 152 90 i 3.68
33631 000 l-h n g 

h LLu 
g r{qb Q bL 4utr lr ! u pti u ppr{u1 frtr rIuLL p f tr bp T( rlbrlurhuLn 160 160 25.60

33631 000 OdbqpLuqnl q<
4bnLuu1urLnh6 lq 70 1.33

33611150 'lLuLlipbum[U (udlr1uq, qnnLnbuq, rhuuq) q< 4brluhuLn 54 220 7.48
3361 2400 nnnmur4bnhLfr hlr4pnplnpfrrt 4brluhuun 7 40 0.28
33613000 9 uLn Llufunurfi nqbpn Lp LI 22nt1 172 2 0.34
33671 1 30 rlh$bL hh qnurdhL (rlhgbL h hapurllrtrfr hlr4p nplnp fr4) o/ un{url,l 23 110 2.53
33671 1 30 n[!p$bLu! truLnp[nLd rluqr.uhulLr 1B 20 0.36
33631 630 hpurLnl 22nLl 1,044 5 5.22
33631 600 3nry nuLn 168 17 2.86

33651 1 00
uuupul rgl rUru IuuupulrgItItuIt rJtltpnnr]nulml, plulqnrluluLuppnr

( Qu fi nuI[ piu{nLlutruLn) d/ rluqr.!nulLn 144.3 184 26.55

33651 1 57 3 b$ m p I up u ntr ( g b$r"n p fr urp u n L L ur Ln p ir n LLI) un{uq 162 20 3.24
33651 1 00 UnL$u-rrlbpopuurqn6 upfrrihpnqplrrl 4h4luhurLn 17 240 4.08
33651 1 00 3h qn ngLopu ug htl (g h ulnn gtopuu,g frLfr h ir4p nplnp Ial d/ luqurnu]ul 35 20 0.70
33651220 91nunpIdLuqnl qup!nL6 260 3 0.78
33661 121 'lurpugbr"nwdnl q< nunurnurm 4 400 1.72
JJOO||lt Jburudfrqnl (rJbLnurJfrqnl LLuLnpfrnLd) o/ Jn{urtl 35 20 0.70

33661 200 U upn LururLIn 1.ir unLl$urr.n T( 4br1u:hurm 70 0.9i
33671 1 1 4 Ppndhbpufrtr (ppnrlhbpulrLfr hh4nnBrnnhr) g< nbnuhurm 2.9 450 1.31
33141110 {f pu!u'tq d/ num B5 40 3.40



33141110 Pd2! ru! LUL pnrrlpurl.l Y( huLn 187 22 4.11

331 41 31 0 LbnLunl;hiLbn num 10 70 0.70

33141111 Uutbeur!hLbp Y( hu: un 280 B 2,24

33141420 FdlUuhurL dbnlnq a/ nurm 1A E 170 4.17

33141420 $rnLnqhtintntrh urqbLnnLhn Y<- qupt1nL6 220 2 0.44

33631 61 0 'ln{[4nL 1n4 ?zltl 2000 0.5 1.00

331 41129 pd2!iu!ruL 4[rluQ g< huur 50 50 2.50

331 41 11 1 !q1nrL uqbrlLutrfr q< hur ur 6 280 1.68

33141111 u33 Y( huur BO BO 6.40

331 411 1 1 urrnLrJhLhnLfh $nu$tuut T( r-hLuBbB 180 40 7.20

331 411 1 1 u nu$u-rqbLnudhn (unu$ruq bmudhn !uun hnLd) fiurpbp 13 100 1.30

33141111 Uuqhtlhti Y\ und u-rU 960 14 13.44

33141111 l16n L ubLuL n L|-u fr 1 n Lr1, purqhn Lp, ! uu{Lr fu n Ln[ upiluurl bp c< unULuLj 220 5 1.10

33651 1 70 urqhtlnLlhn a/ qbnuihrxul 600 I 0,60

336511 70 qbgLlLbpuhL (gb$uLbpuhtih dn!nh[4puLn) 4bququun[6 150 BO 12.00

33141118 u!6hnngfl1 uurbpfrl hurm 14 35 0.49

331 4111 B ur 4u-rdruL4lur [1 ulLrl q< undutt 130 10 1.30

33141118 4[uqn1[L 4purdb d/ hLrm 45 BO 3.60

33641 41 3 nbBuurdbLnuqntr d/ unqLuq ilc 1 0.23

33611350 urdppoBunl (udpnopunth hhrtnnBtnnhn) g< nbnu.rhr"uur 49.7 500 24.85

33641413 nbpuuLlbpuLqntr Tq unqLuq 670 3 2.01

33640000 $1nL!nUuqnl q< tbnuquuh6 140 50 2.00

331 41 31 0 t,bnurntrhr 3 a/ hur.n lz 60 0.72

33141310 Cqumbl q< LnnLq'l 1 000 ') 2.00

33661136 rrlunuclbr,nLuilnl t/ dndhtt 90 10 0.90

33691 129 Qb4bpu o-/ 22nu 1500 B 12.00

33691 225 (bpp[nL o2. z2l1Ll r 850 2 3,70

33691 225 Lh$nLnoBuuqhn q< 4bnuquLnh6 82 28 2.30

33691 225 SbmLudnl o2./qup urgbmu dn1 / d/
2211\ 680 tz 8.16

33696505 q< quptlnL6 3t 55 J^to

33696506 fdfiilnLpnft punLtl q< mnrql 130 0.39

33696507 hpnLqpn$btr o-/ 22Nl 1 300 3 3.90

33696508 LtuUun$nn Bhqu g< unLr"h 1710 4 6.84

33696509 l-1nLqn1Lu[p mnrt{l 1200 3 3.60

3369651 0 !bLnnunhgbtr (UbmnLnh$btrh $nLtlunurLn) a/
4UrIUntuUl 7 10 0.07

3369651 1 PrnnhbpuhnhLh qrnrUnLu.rul qa
?2111 620 2 t.21

33621 460 UrIppoBunl (urJppopunfi hh4pnplnphq) g<
221'14

oqn q 4.75

33621 460 U!nLlLunnh uulhnin '+< 22ILI 130 2 0.26

Cb4udbtrp 279.98

z


